EAGRAROBREERT — 2 N— ABISH —F

20195118118 (B) 13EAH#1H

mﬂﬁ% 3 1 22A%E B R
[x&4£] 1 % :1,400,000 @ ~ 2 3% :560,000 @ ~ 337 :350,000  ~ 4 3&:210,000 @ ~ 5 7 :140,000 M
& %B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
—in s EFEER 145, —6-3- . — 1EH#H= (KH)
1 3| AT RY =T i3 54.0° 1(4_5)0 631|407 1 5_023) 1A
Z:va7x B:I77UNY— mE BE
- . 4 3 | MEEA 1:45.9 3-3-6-6 | 41.3| — 5 503 | KEFIL (K##)
2l5lg| YA RKU—L 56.0 ) (+14) | LERAE
R:d—IRAfA— B:LT1E—FZX it Fk
= . w2 4 3 | THF 1:45.9 12-12-11-10{ 40.8 | — 13 | 460 | =>tEAEE (KFH)
31 7|12| =7 AT 1w 54.0 (74%) © Sty
LNZ—kba2—X B:YLITXHEY b Kt B
5 SV o3 | HWHIR 1:46.3 9-9-7-7 |41.5| — 4 450 | NEFFERR ()
7l ¢ REEARERAS 56.0 ® Oy | B Sratrs-rsarn
RFLIIANZE B4 25T4F— b ISt e
. JIEORE 146. -13-13- . — ZIRERIE (/)\HE)
515/ 71X77 =%k i3 i 1(14/62)4 13-13-13-13| 40.6 9 (4_926) ok /I
LNy vHF—Ib B3 t5— AHME—FRFT—=T I
(2PN : -10-10- = JEF R (/)\HE)
N« BIETZE 77250 8 [ T R TS rwEe
L:a214x v ML B:ELXFriO0—7 &5 FX
f 3 | MR :46.5 9-11-12-12 [ 41.1 | — 8 443 | BEE (KH)
7(8|15| A/ —FT1 b 54.0 (NF) *+2) OB
R:F1+—7TVI>7 B:ax/v4 AL
e o TEE— . 68 _ SR (KH)
8 0| M1 TFTIA 4 3 o 1.(416).7 7-6-8-8 | 41.9 7 (5:):;8) i)
L:Er7OvY BivXNZE2—F— [Ev e ]
o= f 3 | EERA 1:47.4 5-5-4-4 | 42.9| — 3 | 461 | TR (KH)
98|14 7HINT = 54.0 (3 1/2) (o) | NBEX
LIV NATA—h— B:T7x b1 =— B2y N
$ S 4 3 | mEY 1:47.5 1-2-2-3 [43.2| — 2 479 | BT EH (Vi)
10f@13 IV ER - 6.0 (172) o |EHEAs
L:vavFrrhrT BTFLRR—L—TZX 17 I8
N “ BB 147, -14-14- . — HEMEE (KH)
» 6 2T HYE 4 3 an N (174;75) 14-14-14-14| 41.3 12 gO) EMET_
R:lby KRIS—4 H:T7URA aE JE—
P ) W g —S # 3 | BRAE 1:47.7 15-15-15-15| 41.3 | — 6 435 | FEEAE (KH)
121117V va—-2> £52.0 A 1/4) (7) | BILEEE
LT TANIVE BTy aT7—T1 J=RA=Tr
s 4t 3 | PEFIH 1:47.9 4-4-5-5 |43.2| — 15 | 422 |$EIAC ()
M | Rl e R 54.0 (3/4) Lo | BAtRE
LN=HNK B:TTaonFvr 77— L4
: R . it 3 | HlETIHA 1:48.0 6-6-9-11 |43.4| — | 14 | 458 |ZREFMH (K3#)
14 4| FATERRT > 54.0 3/ L) | ) ¥2FLaT
R:2914T hhL> b BENYLILT A AKX
g it 3 | AEEX 1:48.7 2-1-1-2 | 44.4| — 10 | 534 |EEMiE (KH#)
15 5| P/ LT R 54.0 (31/2) Cay | FIE
L:hxexY BT7FEOEE— b RE%S
@ 11— S —EBlIEefz
13=7r= 13,5,9,7,14,4,2,3,(10,11,15),12,8,6,1
23 =7= 5,13,9,7,14,(2,3,4),10,11,15,12,8,6,1
BEE 5,13,3,14,7,9,10,2,4,11,12,15,8,6,1
41—+ — 3,5,13,14,7,9,10,2,11,12,4,15,8,6,1
[ N3
BB 3 140 714K 3-9 680M e 2-5 1,190 3JEHE 3-9-12 58,690
8 B 3 130M9 3-12 6,330 B 2-5 1,280 K31 3-9-12 125,080M
9 470M 9-12 15,640 B & 3-9 1,430
12 2,420 B H# 3-9 1,790M

ARICOVWTRDTEEERROODE. TR LI,




